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Topic 1, Volume A

QUESTION NO: 1

How much overhead does the GRE header add to an IPv4 packet?

A. 24 bytes
B. 32 bytes
C. 48 bytes
D. 64 bytes

Answer: A
Explanation:

QUESTION NO: 2
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Based on the exhibit, in which spanning-tree state would the indicated port be?

What stata?

A. listening
B. learning
C. forwarding
D. blocking




Answer: C
Explanation:

QUESTION NO: 3

Which OSPF area type can contain Type 7 LSAS?
A. backbone

B. not-so-stubby

C. stub
D. totally stubby

Answer: B
Explanation:

QUESTION NO: 4

Which two pieces of information are communicated by IS-IS TLVs? (Choose two.)
A. network protocols supported

B. designated router priority

C. authentication key
D. PDU Length

Answer: A,C
Explanation:

QUESTION NO: 5

Which configuration disables a port when more than 30,000 Kbps of broadcast traffic is received
over an aggregated Ethernet interface with two member links?




A gstorm-control |
interface ae0.0 {
bandwidth 15000;

)

ol storm—control |
interface ael.0 |
bandwidth 30000;

]

~C, sterm-control |
action-shutdown;
interface a«0.0 {
bandwidth 15000;
}
]

& D storm—-control f
action-shucdown:
interface ae0.0 {

bandwidth 30000;

)
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Answer: C
Explanation:

QUESTION NO: 6

Given the following output, what has been configured for the 192.168.3.0/24 prefix?




